
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

Friday, 11/17 -
/

Some more 3 lemmas .

For this
,
we'll need to recall the definition of

the owner transform -of a suitably nice
function f : IR-C :

f(s) = J
-

2 f(x)e= 2+iXax (se(R2)
.

We have

Lemma P . X

If G(x) = E
T " then =G.

Proof
lote that Glo)-1 , and that

-
πX

G'(x) = - 2πXe = - 2πXG(x)
.

SoG satisfies the initial value problem

f'(x) = = 2πXf(x)
,

f(0) = 1
.

(x)

By elementany theory of differential egins, (*)
has a ve solution, so if we can showunigthatI als· satisfies (A), we'll be done .
We have

(s) = S. G(x)-2nisxdx,
X=So-XLi dX,

so((s) = - 2πiS- Xe
+ +X
*
-2xix

dX
.Z



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

⑤
then we have the "Jacobi,dentity"

O(t) = t
=
g(t) .

Proof
--

Note that
-(t) = G((n)

ne2

with G(x)-e-x as above . By Lemma
ten,

E(t)=l
so by Lemma 6,

O()=
= t 20(1)

. I


